577k [1)[2] [3)[4) [} 9k o) 27 7h=g g i

WA 7V 2 58 BE 1), 57 30] UERfE Sk Aoty

@ 3000 @ 30 ® 3

Vg 2 A4S BT 4321 Ui,
JeiB.2 3o] ERf S 300G




o’ 5 27 & WrEY ol 16 olaL, U A7F 19 ¢
e drklA] FokA e

#yo,

D 27 =16---19

AAPAS o] 85t [ | =27x 16 4 19 = 451




@7_}- L2 C

@ Zt1=c

O Zr1=1

® Z 1=

@ Z+c=

|
KK

el
.

Z}

90° X Tt 311 180° Kt ZHe




4. o =314 @ @2 2= T FokAL.

@
@
)
55°N\/\65°

>
> ®eh: 120°

@)= 180°-55°—65° = 60°
@)+ (Z @)+60° = 180°
@

+
)+ (ZF @)= 180°-60° = 120°




A
)

%
(@)
=
ﬂ;_ﬂ
%
T <
w5
M ok ’
o_Eq N
~ X q
.
o O‘H
f . o & W
%mm TN
o,mxﬁr. Ooowb
o (@2}
‘.:n__hq % o o’mulnb
:: - Do
: |
L0
T < 1
,Au_.__‘_ 7_|7oO
orr_._\) ﬂ_'q_.,_g
r Ny : ﬂ%i
3 ™ ﬂ_-7m_
ﬂliu_,.r ! g :
op Ton m : 5
O of r :
iy ul  ul mﬂoﬂ
N K ; 7
o N3 ol
N N
TS




SHA| Q..

A 3

—

ofe

eyl
B

ts}

w2

vF2A A

5 — 301
= - 3> = 1- 9y

S 4

st=A] A4t




® 274+ 4x%5 @ 38-7Tx3+6

@ 48-23+9x%3 @ 56+ 2x8—43

@34—6x5+2
B

D27+ 4x5=27+20 =47
@38-7Tx3+6=238-21+6=23

@48 —23+9x3 =48 —-23 +27 =52

@56 +2x8—43 =56+ 16 —43 = 72 — 43 = 29
®34-6x5+2=34-30+2=6




FYgol= B A B2 3 P 750 Yof 4k, A
Hof Ak5UTE o] B oA 82 10 B A ZFo]
AulE o dy7t?

> = ]

> Fehl 31009

Fo

1

O o

| 4 F2-5 480

L8 A ™

3 1 A9 gro] (750 = 3) Fol1
A Zo] 1 B39 Zho] (480 +4) Yo|E &,
I3 10 @O F2 (750 + 3 x 10) Yol

A Zo] 5 B-20] ZHS (480 + 4 x 5) Holtt.

54 10 A AFo] 5 Feo] wel g2
(750 + 3 x 10) + (480 + 4 x 5) °]t}.
(750+3X%10)+(480+4%x5)=3100()
|
250 120

2500 600

I —

3100




49x3+54+( |+4)=153

iy

\VARR 4
0x
iy

36

AR AR EFAMN AL FAT WAL B Adtetn
SAl B A-S Al o

49x3+54+( |+4)=153

147+54+( ]+4) =153

54 + (|:| +4)=6

I:’+ 4=09

[ ]=36




A4

3t 3

=

7‘(1—7].

(HHE 39 g 9]

()

Oty [ olsa

13t 4

=

27

@ &8 2

spge] 57} 7

gt o

@ &9 Hi2]o] &7t

R 5ol A7} A 2

P o} o5}

S
ot

@ &H gl A7t o

4xro|dt,

o
bl

@) o)A 5T
® 1 i3] A7t

‘ @ RN 57

grefl At

e 3

13
of




